1 H H

329 §H

4 & x| | AFEt 4 5 x| M | AFE
& KER3 34 34 68 TEREE 0 2 2
BEE 32 21 53 BETE 2 0 2
FEA 29 21 50 FHAER 2 0 2
Y= 22 17 39 LRI 1 0 1
T3 11 11 22 A 1 0 1
gog-=Ri 10 10 20 & &t 189 140, 329
EHEE 4 10 14
B3 8 5 13
REB 9 0 9
Mz = 6 3 9
SE LR 5 2 7
RERE 6 1 7
JXREAE 2 2 4
EAL 2 1 3
] 3 0 3




2 H H

329 §H

4 5 x| | AFEt 4 5 x| M | AFE
& KRR 3 50 39 89 EEB 1 0 1
EBEE 18 17 35 #ER 1 0 1
= 18 15 33 EAE 1 0 1
T3 20 12 32 A SBEE 0 1 1
BEE 16 15 31 75 E1E 1 0 1
REE 13 9 22 Z DA 3 5 8
B3 5 15 20 & &t 177 152 329
EHERE 5 8 13 (ZDfh WER %158
EER 11 1 12 B BE B AHR
ZaE 4 6 10 £ £33
Mz = 7 3 10 BAEA ]
JXREAE 2 2 4 b 22 = FRARR
L 1 1 2
22 KRR 0 2 2
TERSE 0 1 1




